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JIE 7. K 4 oUT IN G |HC NET 7= 7 NEVAR= dA,
1 e 50 47 97 26.0 T71.0
2 A 50 50 100 27.0 73.0
3 AFHE 50 51 101] 28.0 73.0
4 J Bt 46 49 95 21.0 74.0
5 WAt FnE] 46 49 95/ 21.0 74.0
6 JREEH 46 50 96 22.0 74.0
T HHPEE 48 50 98 24.0 74.0
8 [LIAEHLE 52 52 | 104 30.0 T74.0
9 MAFE 49 49 98 23.0 75.0
10 2 HAFHR 49 49 98 23.0 75.0
11 KREG =] 48 50 98| 22.0 76.0
12 I EfET 49 49 98 22.0 76.0
13 =Rk 49 52 101 25.0 76.0
14 VEHE(E 48 53 101] 25.0 76.0
15 EAIES 49 51 100 23.0 77.0
16 RVt 50 50 1000 23.0 77.0
17 JEEAZRE 53 48 101] 23.0 78.0
18 A= Hii#5HH 51 58 109 31.0 78.0
19 &SRB 49 53 102 23.0 79.0
20 R IE= 53 53 106 27.0 79.0
21 S HEBEE] 54 53 107 28.0 79.0
22 FLIHRER 54 55 109 29.0 80.0
23 7L 49 54 103 21.0 82.0
24 BREFRAT 53 56 109 27.0 82.0
25 REHENLT 57 53 110 28.0 82.0
26 74 LFnAk 57 61 | 118 36.0 82.0
27 FEHPRRE 55 52 | 107 24.0 83.0
28 JKIEH 49 60 109 26.0 83.0
29 Mz 52 57 | 109 25.0 84.0
30 fHEEFAL 58 54 112] 27.0 85.0
31 HHkET 55 61 116 29.0 87.0
32 FHI—HE 55 61 | 116 27.0 89.0
33 Pl 53 64 117 27.0 90.0
34 HLHIEA 55 57 112/ 21.0 91.0




